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B.Sc. 2nd Semester (Honours) Examination, 2021 

CHEMISTRY                          

(States of Matter & Chemical Kinetics; Chemical Bonding & Molecular Structure etc.) 

Paper: SH/CHEM/203/GE-2  

Course ID: 21414 

Time: 1 Hour 15 Minutes                                                                               Full Marks: 25 

The figures in the margin indicate full marks. 

Candidates are required to give their answers in their own words 

 as far as practicable. 

দক্ষিণ প্রান্তস্থ সংখ্যাগুক্ষি প্রশ্নের পূণণমাশ্নের ক্ষেশ্নদর্ণক। 

পরীিার্থীশ্নদর যর্থাসম্ভব ক্ষেশ্নের ভাষায় উত্তর ক্ষদশ্নে হশ্নব। 

 

 
1. Answer any five of the following questions:                                                            1×5 = 5 

যয যকাশ্নো পাাঁচটি প্রশ্নের উত্তর দাও। 
(a) Write electronic configuration of Cu

2+.
 

Cu
2+-এর ইশ্নিকট্রে ক্ষবেযাস যিশ্নখ্া। 

(b) In between Li and Cs which one has higher ionic character? 

Li ও Cs-এর মশ্নযয কার েক্ষ়িৎশ্নযােী চক্ষরত্র যবক্ষর্? 

(c) Write down the unit of second order reaction. 

ক্ষিেীয় ক্রম ক্ষবক্ষক্রয়ার একক যিশ্নখ্া। 

(d) Which allotrope of carbon does not conduct electricity? 

কাবণশ্নের যকাে রূপশ্নভদ ক্ষবদযযৎ পক্ষরবহে কশ্নর ো? 

(e) Write down van der Waal’s equation for n moles of real gas. 

n যমাি গ্যাশ্নসর েেয ভযােডার ওয়ািস এর সমীকরণটি যিশ্নখ্া। 

(f) Why an ideal gas cannot liquefy? 

আদর্ণ গ্যাসশ্নক েরশ্নি পক্ষরণে করা যায় ো যকে? 

(g) Which one between HF and HI is a stronger acid? 

HF ও HI-এর মশ্নযয যকােটি যবক্ষর্ েীব্র অ্যাক্ষসড? 

(h) What is the unit of surface tension in C.G.S. system? 

C.G.S. পদ্ধক্ষেশ্নে পৃষ্ঠটাশ্নের একক কী ? 
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2. Answer any two of the following questions:                                                          5×2 = 10 

         যয যকাশ্নো দযটি প্রশ্নের উত্তর দাও। 

(a) Derive the expression for rate constant of a second order reaction 2A → Products. 

Show that the half-life of the reaction is inversely proportional to the initial 

concentration. 

ক্ষেম্নক্ষিক্ষখ্ে ক্ষিক্রম  ক্ষবক্ষক্রয়ার হার ধ্রুবক এর েেয রাক্ষর্মািা ক্ষেণণয় কশ্নরা: 2A → উৎপন্ন দ্রবয।    
যদখ্াও যয এই ক্ষবক্ষক্রয়ার অ্যণ-ক্ষবশ্নয়ােে কাি গ্াঢ়ত্ব এর প্রার্থক্ষমক মাশ্নের বযস্তােযপাক্ষেক। 

                                                                                                                                  3+2 = 5 

(b)  (i) N2 is diamagnetic but O2 is paramagnetic. — why? 

      N2 ডায়ামযাগ্শ্নেটিক ক্ষকন্তু O2 পযারামযাগ্শ্নেটিক।— যকে?  

(ii) Write the names and uses of any two noble gases.  

      যয যকাশ্নো দযটি ক্ষেক্ষিয় গ্যাশ্নসর োম এবং বযবহার গুক্ষি যিশ্নখ্া।                   3+2 = 5 

 

(c)  (i) Write down Maxwell’s law for the distribution of molecular velocities and explain 

       the salient features of the curve. 

মযাক্সওশ্নয়শ্নির গ্ক্ষে বন্টে েীক্ষে সংক্রান্ত সমীকরণটি যিশ্নখ্া এবং এই সমীকরণ যর্থশ্নক প্রাপ্ত 

যিখ্ক্ষচত্রটির ববক্ষর্ষ্ট্য আশ্নিাচো কশ্নরা ।  

(ii) Write down the Arrhenius equation for rate constant. 

       ক্ষবক্ষক্রয়ার হার ধ্রুবক সংক্রান্ত আরশ্নহক্ষেয়াশ্নসর সমীকরণটি যিশ্নখ্া। 

(iii) What do you mean critical temperature of a gas? 

       সংকট োপমাত্রা বিশ্নে েয ক্ষম কী  যবাশ্ন া?                                                              3+1+1 = 5 

 

(d)  Explain the following: 

 বযাখ্যা কশ্নরা: 

 (i) Carbon dioxide is a gas but silica is a solid at ordinary temperature.  

     সাযারণ োপমাত্রায় কাবণে ডাই অ্ক্সাইড গ্যাস ক্ষকন্তু ক্ষসক্ষিকা কঠিে। 

   (ii) SiCl4 hydrolysis but CCl4 does not.  

     SiCl4-এর আদ্রণ ক্ষবশ্নেষণ ঘশ্নট ক্ষকন্তু CCl4-এর ঘশ্নট ো।                      2
1

2
+ 2

1

2
=  5 
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3. Answer any one of the following questions:                                                        10×1 = 10                                                                                

যয যকাশ্নো একটি প্রশ্নের উত্তর দাও। 
 

(a) (i) Draw the structure of H2O according to VSEPR Theory.    

             VSEPR েত্ত্ব যর্থশ্নক H2O-র গ্ঠে অ্ঙ্কে কশ্নরা। 
 

      (ii) Calculate the r.m.s. velocity of oxygen molecule at 25C in S.I. unit. 

            25C উষ্ণোয় অ্ক্ষক্সশ্নেশ্নের গ়্ি বগ্ণশ্নবশ্নগ্র মূি S.I. একযক ক্ষেণণয় কশ্নরা। 

     (iii) What is co-efficient of viscosity? How does it change with temperature? 

            সান্দ্রো গুণাঙ্ক ক্ষক? এটি োপমাত্রার সাশ্নর্থ কীভাশ্নব পক্ষরবক্ষেণ ে হয়? 

 

     (iv) Write down the formula of green vitriol. 

           সবযে ক্ষভক্ষট্রয়ি এর সংশ্নকে যিশ্নখ্া।                                                             3+3+(1+2)+1 = 10 

 

(b)  (i) State Fajan's rule.     

          ফ্যাোশ্নের সূত্রটি ক্ষববৃে কশ্নরা। 
 

    (ii) NH3 is pyramidal while BF3 is triangular planar. — Explain. 

          NH3-এর গ্ঠে ক্ষপরাক্ষমডাকার ক্ষকন্তু BF3 সামেক্ষিক ক্ষত্রশ্নকাণাকার — বযাখ্যা  কশ্নরা। 

   (iii) Discuss the effect of temperature on surface tension of the liquid. 

          েরশ্নির পৃষ্ঠটাশ্নের ওপর উষ্ণোর প্রভাব বযাখ্যা কশ্নরা। 

  (iv) State with equations what happens when orthophosphoric acid is heated to a 

         temperature of 250C. 

               অ্শ্নর্থণাফ্সফ্ক্ষরক অ্যাক্ষসড 250C োপমাত্রায় উত্তপ্ত করা হশ্নি ক্ষক ঘটশ্নব সমীকরণ সহ বি। 

   (v) What is unit cell? Write mathematical expression of Bragg's law. 

        একক যকাষ ক্ষক? Bragg-এর সূত্রটির গ্াক্ষণক্ষেক রূপটি যিশ্নখ্া।                                    1+3+2+2+2 = 10 

 

 

  


